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II.

I1I.

IV.

VI

A

Theorems (4 + 3* =7 Marks )
Bee) I Zedead : (Bwow) IoDTBI D Tjeded) SrIVT 2,07 LTI OY¥E JI20IBT JTY
Sesfodn GVPTTRD) LN, FeWoDTBTY RIINDST.

Be.Bre.dpe. Byed 1 TR Grhanth IDEeeeahnvoNGd, PNy ODTRT oW
D TBTODBS. (F30BeRCONNTINTIE S LWNRY FZTRLNTNTIB 23)

AT B)Dedd : BTRB SHBNY LN IPYNY ODTRS oY Jrenen
IV ODTBBODSE.

S DorReSIT Bhead : 2o VoZES SHRTY, IBEFT DT JNEY YVPTTW) WoTNY
e SnenY Ses3, IDTNDLIT.

B BERODITY 28T SB) © R BB, ©OWTNTOZT 00T TRA.

m&a VOTRNACT 3B Z LT B BEBN TTZT AZTWNTT N 0T WP A.
Drill for Constructions (3+2=5 Marks)

3331-1 (2 Marks)

AB = 10cm 9303 JeamnDorzmy, o¢ch oy 312 3 oz e,

PQ = 9cm 9303 Seapdor=Ty, 29 ©TFy 5:3 T wHhmTITY | ggena.

XY = 12cm 930 Seandom=my av9ch ousy 715 8 o@e3nd Hyena.

MN = 9cm 9308 JeanDoBTTY, 2w oIy, 3.7 T eDT0STY DTN,

AB = 8cm e¢30dh Seandom@mnsy ovch wusy 2:5 8 o@e3nd Hyena.

3331R-2 (3 Marks)

AB = 6cm, BC = 7em 3, /B = 60° asomog ABC gew Sur, o33 woans % O, v
TRODTIT BT, ATZTAHLINT WROT HWTTY, TWA.

2
QR = 6cm, £Q = 60° 35, ZR = 50° wchmog APQR sz, 938 tmane 5 O, 093 s
BTT, AZTHLOIIT WRET WD Ty, T,

6cm, Scm 2B, 7cm es$303 g% TR, ¥TT WTNY % da’& 983 qTHa @d@t DT ROIIT
ANROTH FPORTITY TWA.

4
6cm 30 TR &y JBr, BTT TN 3 TR, W98 0T WWB, AS[TRHLIT
ABROTH LTIy TWA.
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4
AB = BC = 6cm =3, /B = 50" wcim03 AABC ez, 650 mmhny - o, ¢¢3
TRODTT BT, ATZTHLINT WROT LPWTTY, TWA.

AB =8cm, BC = 6cm 3, /B = 90° asomog ABC gz Sur, o038 woans % O, w9
TRODTIT BT, ATZTAHLBIT WROT S LWTTY, TWA.

3331R-3 (3 Marks)

XY =4cm, YZ = Scm 3, Y= 50" achzod XYZ b ous, sa0 masne g O, v
TRODTIT W, AT[TRHLBINT WRROT FYHWZTY TWA.

4
AB =4em, ZA = 60" 33, /B = 50" =oomie3 AABC dus, o0 bty - O, ¢v3 a0
BTT, AZTHLOIIT WRET WD Ty, T,

1
3cm, 4em 33, Sem w9dod 3w T, $TT IR 15 TR, w930 ©TE, FZTRLOIRT
ANROTH LTIy TWA.

Jcm e¢3ch FTwRm Iy Jur, ¥TT TN DTBETR, B T ©TE, FZDTRLOIRT
ANROTH LTIy TWA.

AB = BC = 4cm a3, /B = 50° w0308 AABC g 0ess, a3 wnasne % O, v
TRODTT W, AT[TAHLINT WROT S HWTTY, TWA.

4
BC =7cm, ZB = 45" 23, ZA = 105" w03 AABC guts, 650 mmny - o, ¢¢3

T BTF, ABTRLBIT WWROT WSy, TWA.
3331R-4 (2 Marks)

5cm mﬁ@zﬁas 5@3_0325 Sintell-Nelafalele) 6 cm TRTTA THE 2,083 WOTDRAOT LT & JEBINTDY,
o8 , ea;jm%?z%l 53O0,

4 cm SWT 38,3, WTWT 0w O 7 cm TRTTBY T 10T WOTHNAOT LT B JEINTTY, TWA.

5cm BT =,8,00T3 4 cm TRTTE THs3 2.0 WOTNHA0T &TE, TR & JEINYRY, TWR,
BIYNITY, I TTWTOT BIIRcR.

3053003 9 CM TATT 2,05 T, WOTHOR0T 4.5 CM IR T =,3.3, 2T 3 JInTsy S,

3.5 cm en3T &35 303008 © )BT DATT, BTRCTY T .00 WOTHRVOT T8, ST
A BEBNTY, TR,

AB = 8 cm 29303 Sesoom Ty, A 0323y, 8o TRNOA 4 cm IRT )3, SV T3y, B 030y,
geommonon 3 CM $w,3 3,3, Suk. T3 3,33, I B33 Fon0en 7 FeInay Sk,
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3331R-5 (2 or 3 Marks)

l. 3com gxats 3,33, 3380 3o daeamy) 500 smmo3 20 3 Franvm, Sur.

2. 3.5cm euats 3,33, eune sm3 1000 dees ozemEod 2 grnesy admh, sYny @03
WOTHRYD, § BNy, Uk

3. 3Breny sms 60) deex a3e@®ToI 4 om xS B33, H0m BFsnTny Jus.

4. amny 3w 110° gres amcm=o3 5 om gra0s 5,389, a0 Srnvm, o¥m ePyne
03, VOTPNTY, 3,33, F0B> T JrInVy Uk

5. 45cm SWATT =83, FIEING IO eI 55% &vz08 2o B A BETNYTY TR,

6. 8cm SF AT 3,

8]

oD% DY

WO & FETNITY TWA.

33, IWNT IW@

Drill for Graph (4 Marks)

120° 8nes amrmz03 2 unemy, oo, eRne ©o3,

Solve graphically

x+y=7 y=2x+1 x+y=7 3x+5y=4 2x+y=28
x—y=1 x =2y-35 x—y=3 x—5=28 x+y=35
Ans : (4,3) Ans : (1,3) Ans:(5,2) |Ans:(3,-1) Ans : (3,2)
xX—y=2 2x+y=28 x—2y=-7 |2x+y=35 2x—y =35
2x—y =28 x+2y="7 4x+3y=5 |3x+ty=7 x+3y=6
Ans : (5,3) Ans : (3,2) Ans: (-1,3) | Ans: (2,1) Ans : (3,1)
3x+2y=13 |3x+y=7 2x+y=10 |3x—y=-4 y—x+2=0
x+3y=9 4 -y =17 2x—-y=2 Sx+y=-4 x—=2y-4=0
Ans : (3,2) Ans : (2,1) Ans:(3,4) |Ans:(-1,1) Ans : (0, -2)
2x+y=3 y=2x-2 x—y=4 2x—-y-2=0 |x+y=10
x+3y=-1 y=4x-4 x+y=10 2x+y=6 xX—y=2
Ans:(2,-1) |Ans:(1,0) Ans:(7,3) |Ans:(2,2) Ans : (6,4)

85 2eDT SDIJNYIY, IRE , 8Be3 D) LTMDEHS0 JHeINVoB VBT Boh3 d.
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Drill for Statistics (3*+3=6 Marks)

Calculation of Mean

8 BN 833 BT BEINTYY eBDT ©903e90BNV F0TO FoDHBAO

1) 2)
x|10[11]12]13 |14 | ppg: X =12 x| 1011520125130 | Ans: X =19
f13]12]18]12]3 N =48 1o 10771913 N=35
3)
C.I|30-34|35-3940 44 |45-49 | pApg - X =41
f 4 5 2 9 N =20
4)
CL|2-4|4-6{6-8|8-10|aps: X =5
f | 5 6 3 1 N=15
5)
C.I 4044454950 -54|55-59|60-64|65-69 | Ans: X =55
f 4 7 14 11 8 6 N =50
6)
CL|0-10]10-20{20-30|30-40|40—-50| Aps: X =27
f 5 8 15 16 6 N =50
7)
ClL|0-4[{4-8|8-12]12-16[16-20| Ans: X =10
f | 4 5 12 5 4 N =30
8)
CL|0-10]10-20]20-30|30-40|40—-50 | Aps: X =26
f 5 12 14 11 8 N =50
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9)

CL|1-3|3-5|{5-7|7-9/9-11|11-13|Ans: X =7

10)

CL|0-10|10-20|20-30|30-40|40-50 | Aps: X =25

11)

CL|1-3|3-5|5-7|7-9 9—-11 Ans:XZS

12)

CL|1-3|3-5|5-7|7-9 9—-11 Ans:XZS

13)

CL|3-7|8-12[13-17[18-22| Apg: X = 13

f 4 7 9 5 N=25

Calculation of Mode
8 39t 533 3T BEI MV BT 9039031V RIS (EOB) B0 RO :

1)

CL|0-10|10-20120-30(30-40
Ans : Mode = 24

f 2 3 5 2

2)

CL|1-3|3-5|5-7[7-9|9-11

Ans : Mode = 3.28
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3)

CL|15-20]20-25|25-30|30—-35|35-40(40—-45|45-50
Ans : Mode = 30.6

f 3 8 9 10 3 0 2
4)
ClL|5-15|15-25(25-35|35-45|145-55|55-65

Ans : Mode = 36.8

f 6 11 21 23 14 5
5)
CL|0-10{10-20/20-30(30—-40|40-50|50-60|60—-70

Ans : Mode =44.7

f 7 14 13 12 20 11 15
6)
CL|0-20{20-40(40-60|60—-80|80—-1001|100—120

Ans : Mode = 65.6

f 10 35 52 61 38 29
7)
CL|10-25|25-40/40-55[55-70|70—-85|85—-100

Ans : Mode = 52

f 2 3 7 6 6 6
8)
CL|0-10{10-20120-30(30—-401{40-50

Ans : Mode = 24.2

f 5 12 20 9 4
9)
CL|1-3|3-5|5-7|7-9]9-11|11-13

Ans : Mode = 6.2

f 20 45 80 55 40 12
10)
C.I. | 200-201 | 201202 | 202—-203 | 203-204 | 204-205 | 205206

Ans : Mode = 201.7
f 12 26 20 9 2 1
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Calculation of Median

85 YN 6838 3T BEINYY VeBDS ©903090TRVT 59,08 (ST 2I¢S) B0 LB
D

CIL|10[20|30|40]50
Ans : Median = 40

£t 13151711219

2)

CIL|[30-35|35-40/40—-45|45-50|50—-55|55-60|60—65| Ans : Median = 45.4

f 14 16 18 23 18 8 3 N =100

3)

CIL |85 —-100|100—-115|115—-130|130—145 | Ans : Median = 109.17

f 11 9 8 5 N=33

4

CL[{0-10{10-20]20—-30|30—-40|40-50|50-60 | Ans : Median = 21.25

f 22 10 8 15 5 6 N =66

)

CL|{0-20{20—-40|40—-60|60—80|80—100| Ans : Median = 49.41

f 6 11 17 12 4 N=50

6)

CL[{0-10{10-20]20—-30|30—-40|40—-50|50-60 | Ans : Median = 28.5

f 5 8 20 15 7 5 N =60

7

ClL|1-4|/4-7|7-10110-13|13-16|16—19| Ans : Median = 8.05

f 6 30 40 16 4 4 N =100
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8)

CL|0-10{10-20|20-30{30—-40|40—-50 | Ans : Median=24.43
f | 20 36 44 33 18 N =151

9)

ClL|5-10]10-15|15-20(20—-25|25-30|30—-35|Ans :Median=21.3
f 5 8 16 23 10 8 N=70

10)

CL|0-5|5-10]10—-15|15-20]20—-25|25-30| Ans : Median= 14.37
f 5 17 32 31 8 7 N =100

1)

Drawing Ogives (3 Marks)
8 39t 533 BT BEINYO AeBDS ©9030903nPoT Fod3 83)3 I (L.AF) Te3R -
(BBD AT DF) O DT L’ IFRYR) Te3d)

C.I.|100-120|120—-140 | 140 - 160 | 160 —180 | 180 —200
f 12 14 8 6 10
2)
CL|50-55|55-60|60-65[65-70|70-75|75—-80
f 2 8 12 24 38 16
3)
ClL|5-10]10-15|15-20{20-25(25-30|30-35|35-40
f 2 12 2 4 3 4 3

(GBS DR eHe0anPrt eBDE 8233 ISTHTEI MY, WHIZROW L’ Te3d)
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Drill for Coordinate Geometry (1+2+2=5 Marks)

SRVYODII0T 20T AVFEH, DoTINDLS BRTBY, B0 LBV

1.
2.
3.
4.
5.

F20000DAAT (3 , 4) DODINDS BTy, BoDBAMD. (Ans : 5)
F200D0DAAT (-6 , 8) DoDHANDET TRTBRY BordBHBWY. (Ans : 10)
Fe0D0DAAT (5 , 12) DoDINDHT BTy BorBHBWY. (Ans : 13)
Fe0D0DHAAT (-8 , 15) DoDAINDE TSR, BotdbBD. (Ans : 17)
F2e0D0DAAT (7 , 24) DoDINDES TSRy BotdBBAWY. (Ans : 25)

QTR VoY WIS BRTBY, 30T BN

1.
2.
3.
4.

5.

(2, 3) 3 (6, 6) Dothriv IDAR TEOIY, FoHBAD. (Ans : 5)
(2, 5) 3 (-3, -7) DoRnY SDAS TR, BoDBAMD. (Ans : 13)
(8,3) 3@ (8, -7) Dori¥ IDAR BeOIRY, ohHBAY. (Ans : 10)
(2, 8) 3 (6, 8) Domhriv IDAR TEOIRY, FohHABALD. (Ans : 4)

2, -2) 23 (14, 10) Dotir¥ SDAS BB, BoRDLAMD. (Ans : 1212)

QTR DoDNRYRY, WeeBDa Searo 0BT AV TSRO NS VoI ITeeT203NYRY,
BoRdBANIHTD :

1.

2, 1) 3 (7 , 6) Dothrivay, FOWE Searpaoday 3:2 BRVTIBEY RPNV DoDHAR
ATeET08MYRY, BoDBAMD. [Ans : (5, 4)]

(-3,5) D3 (4, -9) DoV BT Seanaotdany 1:6 HDZIBBO RPNV DoDAR
ATeeT208MYRY, BoDBAMD. [Ans : (-2, 3)]

(-2, 7) @3 (3, -3) DoVl BT SeanaoTdany 3:2 HDTTEO RPNV DoDAR
ATeET208MYRY, BoDBAMO. [Ans : (1, 1)]

(-3, 10) ) (6 , -8) DoY) FedVF Searaodany, 2:7 ODTIBTO RFAWE DoDAR
ATeET208MYRY, BoDHAMD. [Ans : (-1 , 6)]

(-3, 6) D3 (1, -2) DoV BT Seanaotdany 1:3 HDTIBEO RPNV DoDAR
ATeET208MYRY, BoDHAMD. [Ans : (-2, 4)]
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30 Dothrival Bt Spbad Aenraa otbBaNIT :

Lo(1,1),2,3) a3 @, 5) Bonnvx) 8eodthd Srbas dgenram 88,8, [Ans : 1]

2. (1,-1), (-4, 6) @3 (-3, -5) B)oNMvRY, DD GupsT IRenray 883, [Ans : 24]
3. (5,2),(4,7) 3 (7, -4) Boninvx), @eodDHE et IQenrss U8, [Ans : 2]

4. (-5,1),(3,-5) a3 (5, 2) B)orinvay BeodHS Srdesd AeRraxy I3, [Ans : 34]

5. (=5,7), (-4, -5) &3 (4, 5) Borinva BeodHES et Aerdm 3., [Ans : 53]
6. (2,3),(-1,0) 3 (2, 4) Bortnvx) FeodDT Subas IQerrasy U8,3. [Ans : 1.5]

Drill for Real Numbers (2 Marks)

[. 35 3dnszyned WLPINOW FOBNTIND 20T R

1. 2-\2 2. 25 3. 3-\2 4. J5-3 5. 3-5
6. 2+3 7. 5+3 8. 7++/5 9. 2++6 10. 6++/5
11. V2 12. 3 13. V5 14. J6 15. 7
IL 85 39n3 Ros3nvsy ey, ©TTIEINY oy Tn 3RO :

1. 240 2. 7650 3. 3381 4. 8211 5. 25025
6. 252 7. 3240 8. 1512 9. 1008 10. 10500

L. o0 B yomesed whT@oeohm=y, wozmcdecny 85 39N RO MY 32.%9.89. FoWHLROWD

1. 81 =b=, 108 2. 125 =32, 55 3. 16 ==, 80 4. 182 =3, 52

5. 135 ==y, 225 6. 867 =, 255 7. 84 =3, 105 8. 1353 =3, 861
IV. 1. 168 =3, 204 3 oh.m.00. 12 33, o.70.69. 3o@&%RN0.

2. 350 =3, 250 3 w.m.e0. 1750 33, =o.mm.65. Bot0200.

3. Sme. 24 33, o.mm.e. 284 w0E 23w Ro3Ned  wotdhd 48 =33, QNR,0TTY, FOWRND.
4. Dm.e. 72 B3, o.mm.6. 512 s 28@ Ro3Ne ot 144 233, qBR,0TTY, FOTRND.

5. S 22 33, o.mm.e. 3168 achs 20w RoBNe  wotdh 352 33, QRROTTY, BoTERROWD.
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Drill for Area related to circles (2 Marks)

T3 3YNT WINTQY, ey T {PINT DRLDEDT) TR *

s

Tom
W)

_\ ("

Tcm

Ans : 28 cm?

14 cm I‘ﬁ-ﬂ
=
-
3.5c¢m
Ans : 56 cm® Ans : 129.5 cm? Ans : 6.125 cm’
l4cm
Ans : 21 cm? )
Ans: 112 cm
Ans : 1056 cm®
Tcm

Ans: 167 —12\/§ cm’

Ans : 168 cm’

Ans : 42 cm®

Ans : 115.5 cm?
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Drill for Quadratic Equations (2 Marks)

AR T BTONHOT B3 FYNT SNERNTTLONIT) VR :

S1.No.s Equations

Answers

1 - Tx+12=0

x=4 or x=3

2 |- 2x—4=0

x=1+45 or x=1-5

30 (X —4x+2=0

x=2+vJ2 or x=2-2

4 |2 +6y=3

—3+.f3 343

5 ¥+ 15x+ 50=0

6 |6x*-13x+6=0 x:% or x=3
2 _ 5

7 2x"—-3x-5=0 x=5 or x=-1
2 _ -8

8 Sx +13x+ 8—0 X:? or x=-1

9 |xX¥*-4x-8=0

x=2+23 or x=2-23

10 [4x*+3x-2=0

3+/41 3-41

X
g O 8

X =

Drill for Polynomials (2 Marks)

T3 TINT WIDHTTHRENG AT INTTy, FoLRWD

S1.No.s Polynomials

Answers

1 = Tx+ 12

x=4 or x=3

2 | x>+ 15x+ 50

x=-10 or x=-5
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3 x*—2x—8 x=4 or x=-2
4  |6x*-13x+6 =3 or ng
5 2xF—3x-5 ng or x=-1
6 |5+ 13x+8 x=_?8 or x=-I
7 [P+ 12 x=4 orx=3
83 BYNT WRTTRCE NS 5@35:-‘5'71%3 BRI, T, ﬁow@%ﬁ%’@%{ O ROWD
S1.No.s Polynomials Answers
1| x=7x+ 12 mtn=7, mn=12
2 x>+ 15x + 50 m+n=-15, mn=>50
3 ¥ —2x—8 mtn=2, mn=-8
4 6x2—13x+6 m—i—n:%,mn:l
5 2 -5
2x°—3x-5 =2 —
m+n 5 mn 5
6 |57 +13x+8 m+n:—?1-” L mn=
7 |- Tx+ 12 mrn =1, mn=12
8 Peox-12 mtn=1, mn=-12
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